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example 1 :(1) Jia
¢ Sl aUaill aae ) (g pball (8) 22all J s
Convert (8)10 to a number in the binary system?

Solution:

Number Div. Remainder

NININDN

Ol FrrIN &~
R O|lOoO|Oo

(8)10= (1000)2

Example 2:
Convert (53)10 to a number in binary system

A U 153 (s el 2l Jlsa
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Solution:

Number Div. Remainder
53 2

26 2 1

13 2 0

6 2 1

3 2 0

1 2 1

0 1

(53)10=(110101)>
Example 3:
Convert (130)10 to a number in binary system ?
¢ AU AL ) (130) godad) sad) sand) J g

Number Div. Remainder
130 2

65 2 0

32 2 1

16 2 0

8 2 0

4 2 0

2 2 0

1 2 0

0 1

Solution:

(130)10 = (10000010);

Example 4:
Convert (34)10 to a number in binary system ?

Solution :
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Number Div. Remainder
34 2

17 2 0

8 2 1

4 2 0

2 2 0

1 2 0

0 1

(34)10=(100010)2
3410-1 %29+ 0 %24 + 0 %23 + 0 %22 + 1% 2L + (0 20

=100010,

Example 4:

Convert (50)10 to a number binary system ?

Solution :

Number Div. Remainder

50 2
25 2 0
12 2 1
6 2 0
3 2 0
1 2 1
0 1

(50)10 =(110010)2

§ (ALY ALBIUL Yo ) A 4TY) 4 pdad] Jse Y Jos
(45)10 =(?)2

(106) 10— (?)2

10
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(79)10 = (?)2
(22)10= (?)2
(64)10 = (?)2

(38)10=(?)2

(51)10 = (?):2

g\)«ﬁd/ Pw/u-//a_fm/ pw/ ‘_}4 Jef/ QLJJAJ'

Al ) iyl g g s S a3a) Sl i

(20 Yo * oz Caasll o 22l Js¥1 iyl o

(1) o * o Al el

9352 e G5 (2) fl 505 s ) A1 iy 51 Sy (22 ) * ooy B a5l @
(0) Jaall e w98 je IS (A (1) iy Ly,

Example 1:
Convert (10011), to a number in the decimal system ?
¢ (g pinll pldailly 220 ) (10011) S 232l J s
s dall

Solution :

(10011)2= 1%20 + 1%21 + 0*22 + 0*23 +1*2*
= 1%1 +1%2+ 0*4+ 0*8+ 1*16
= 142+0+0+16
=19

(10011)2 = (19)10

Example 2:

Convert (11100)2 to a number in decimal system ?

11
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Solution :

(11100)2= (0*2°) + (0*2Y) + (1*2%) + (1*23) + (1*2%
=(0*1) +(0*2) + (1*4) + (1*8) +(1*16)
=(0) +(0) +(4) +(8) +(16)
=28

(11100)2 = (28)10

Example 3:
Convert (101011) to a number in decimal system?
Solution:
(101011)2 = (1*2°) + (1*2%) + (0%22) + (1*2%) + (0%2% + (1*25)
= (1*1) + (1*2) + (0*4) + (1*8) + (0*16) +( 1*32)
= 1 +2+0+8+0+32
=43
(101011), = (43) 10

Example 4:

Convert (100010), to a number in decimal system?

Solution :

(100010)2 = (0%2°) + (1*21) + (0%22) + (0%23) + (0*2%) + (1*25)
=(0*1) + (1*2) + (0*4) +(0*8) + (0*16) + (1*32)
=(0) +(2) +(0) +(0) +(0) +(32)
=(34)

(100010)2 =(34)10

Example 5:

Convert (1011100). to a number in decimal system?

12
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(1011100)2 = (0%2°) + (0*21) + (1*22) + (1*23) + (1%2%) + (0*25) + (1*29)
= (0%1) + (0%2) + (1*4) + (1*8) + (1*16) + (0*32) + (1*128)
= (0)+(0) + (4)+ (8) + (16) + (0) + (128)
=156

(1011100)2 = (156) 10

IHTTTTTHW . (Se sl s
bl leailly slae ) ) 4] aglEl dae ) Ja

(10)2=(?)w0 o
(1001)2= ()10
(110001)2= (D10 o
(111)2= (P10
(1001)2= (D10 o

(0010101)2- (?)10 o
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